Chapter 17 Study Guide

1. Balance the equation in basic conditions 


Zn + NO3–  Zn(OH)42– + NH3
2. Label all oxidation states for question #1

3. How many electrons are transferred in the following reaction?
     Fe + 2HCl  FeCl2 + H2
4. Describe or draw the galvanic cell represented as 

Zn(s)  Zn2+(aq)  Cr3+(aq)  Cr(s)

5. Write the half reactions and determine EO for question #4
6. Calculate Ecell of question #4 at 25OC when [Zn2+] is 0.50M and [Cr3+] is 1.50M 
7. Calculate ΔG for question #4 at 25OC
8. How would you determine a good oxidizing agent or reducing agent?
9. Copper is electroplated from CuSO4 solution. A constant current of 4.00 amp is applied by an external power supply. How long will it take to deposit 1.00  102 g of Cu? The atomic mass of copper is 63.546.

10. If a constant current of 5.0 amperes is passed through a cell containing Cr3+ for 1.0 hour, how many grams of Cr will plate out onto the cathode? (The atomic mass of Cr is 51.996.)

11. How many seconds would it take to deposit 21.40 g of Ag (atomic mass = 107.87) from a solution of AgNO3 using a current of 10.00 amp?
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